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1
Discussion
Event 6a (as well as some other Event 6, such as Event 6b, Event 6c Event 6d) are defined in the following way in 25.331:

Reporting event 6A: The UE Tx power becomes larger than an absolute threshold
1>
if the UE Tx power (for TDD within a single TS) is greater than the value in IE "UE Transmitted Power Tx power threshold" stored for this event in the variable MEASUREMENT_IDENTITY for a time period indicated by the IE "time_to_trigger":

Reporting event 6B: The UE Tx power becomes less than an absolute threshold
1> if the UE Tx power (for TDD within a single TS) is less than the value in IE "UE Transmitted Power Tx power threshold" stored for this event in the variable MEASUREMENT_IDENTITY for a time period indicated by the IE "time_to_trigger":

The key idea behind Event 6a was to be able to detect when the UE is running out of transmit power and report to the RNC. These events were defined when dedicated channels (DCH) were defined, i.e., E-DCH was not yet defined on the uplink. This meant that T2Ps used for carrying circuit-switched speech over DCH were relatively small (and mostly constant), and thus the total power was a good representation of the UE’s pilot power (or, equivalently power headoom). 

In the case of E-DCH, however, the T2Ps used to support data traffic can be large and can vary a lot as well. It could, for instance, happen that the UE is not at cell edge and has enough headroom, but the T2P chosen for the traffic is quite large, causing the total transmit power of the UE to be quite high. In this scenario, if Event 6a is used as defined today, it could be triggered and would cause unnecessary signaling without providing any useful information to the RNC.

To fix the above issue, we propose that Event 6a be re-defined for E-DCH to be triggered on the UE’s pilot power. The re-defined Event 6a could look like the following:

1>
if the UE DPCCH (pilot) Tx power (for TDD within a single TS) is greater than the value in IE "UE Transmitted Power Tx power threshold" stored for this event in the variable MEASUREMENT_IDENTITY for a time period indicated by the IE "time_to_trigger":

Moreover, the above change could be applied to other Event 6 (such as Event 6b, Event 6c, Event 6d) as well.

2
Conclusion

We propose that:
Proposal 1: Event 6a be redefined for E-DCH to trigger on the UE’s pilot power, instead of the total transmit power.
Proposal 2: Other Event 6 (such as Event 6b, 6c and 6d) also be redefined for E-DCH to trigger on the UE’s pilot power, instead of the total transmit power.























































































































































